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nraw;wpl;l kjpg;gPL 

KjyPL vd;why; vd;d? 

KjyPL vd;gJ mjpf gzj;ij cUthf;Ftjw;fhf (vjpu;ghu;g;Gld;) gzj;jpid 
gad;gLj;JtjhFk;.  

vkJ gzj;jpid tsu;r;rpAwr; nra;tjw;F vk;khy; gad;gLj;jf;$ba gy;NtW 
Kiwfs; fhzg;gLfpd;wd. mitahtd> 

1. tq;fpapy; KjyPL nra;jy; 
2. gq;Fg; guptu;j;jidr; re;ijapy; KjyPL nra;jy; 
3. tpahghuk; xd;wpy; KjyPL nra;jy; Nghd;wit 

ehk; gy;NtW topfspy; gzj;jpid KjyPL nra;ifapy; ,lu;ghLfSk; fhzg;gL 
fpd;wd. mt;tplu;ghLfs; Fiwf;fg;gLjy; Ntz;Lk;.  

 cjhuzk;: rpy tq;fpfs; Fiwe;jsT tl;bapidr; nrYj;Jfpd;wd. MapDk; mq;F 
Fiwe;jsT ,lUk; fhzg;gLfpwJ. 

   

rpy tq;fpfs; cau; tl;bapidj; jUfpd;wd. MapDk; mq;Nf cau;e;j 
msT ,lUk; fhzg;gLfpwJ.   
 

KjyPL xd;W ve;jsTf;F ,lu;ghLilaJ vd;gij vt;thW cq;fshy; $w 
KbAk;? my;yJ ve;j KjyPL Vidatw;iwtpl mjpf ,lu;ghl;ilf; nfhz;Ls;sJ? 
  

KjyPl;il xg;gpLtjw;F gy topKiwfs; cs;sNghjpYk; mtw;Ws; kpfTk; 
gpurpj;jkhdit ,uz;L topKiwfs; MFk;. mitahtd> 
   

1. epfu ,w;iwg; ngWkjp  
2. cs;sf tUtha; tPjk; 

Kjypy; epfu ,w;iwg; ngWkjp vd;why; vd;d vd;gJ gw;wpg; ghu;g;Nghk;. 

 ,w;iwg; ngWkjp (PV) 
 
jw;Nghija gzkhdJ gpe;ija gzj;ij tpl kpfTk; ngWkjp tha;e;jjhFk;.  
Vd;? Vnddpy;> mjpf gzj;ij cUthf;Ftjw;fhf ,g;gzj;jpid cq;fshy; gad; 

gLj;j KbAk;! 
 

cq;fshy; tpahghuk; xd;wpid elhj;j KbAk;> my;yJ jw;NghJ VjhtJ xd;iw 
thq;fp mjid gpd;du; mjpfupj;J tpw;f KbAk;> my;yJ ,yFthf tl;bapidr; 
rk;ghjpg;gjw;fhf mjid tq;fpapy; ,l KbAk;. 
  

cjhuzk; : 
  

(1)    cq;fsJ gzj;jpd; kPJ cq;fshy; 10% tl;bapidg; ngw KbAk;. 
vdNt> jw;NghJs;s &. 1,000 MdJ> &. 1,000 x 10 % = &. 100 ,id tUlk; 

xd;Wf;F rk;ghjpf;f KbAk;.  
 

jw;NghJ cq;fsplKs;s 1000 &gha; gzk; xU tUl fhyj;jpy; 1,100 &ghthf 
khWfpwJ. 
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  ,w;iwg; ngWkjpf;fhd #j;jpuk;  

 
FV = vjpu;fhyg; ngWkjp 

      r = tUtha; tPjk; 
n = fhy msT 

 
cjhuzq;fs; : 
(1) mu;[_dh vd;gtu; 4 tUlq;fspy; &. 2,000 vd cq;fsplk; cWjpaspf;fpwhu;. 

(10 % tl;b tPjjj;ijg; gad;gLj;jp) ,w;iwg; ngWkjpiaf; fzpf;Ff. 

 
 vjpu;fhyg; ngWkjp (FV) =  &. 2,000  
 tl;b tPjk; (r) = 10%,     mjhtJ jrkj;jpy; $wpdhy; 0.10   
 Mz;Lfspd; vz;zpf;if (n)  =  4. 

 
vdNt> 4 tUlq;fspy ; &. 2,000 ,w;fhd ,w;iwg; ngWkjp>  

PV = FV / (1+r)n 
PV = &. 2, 000 / (1 + 0.10)4 
PV = &. 2, 000 / 1.104 
PV = &. 1,366.03  

 

,q;F &.1,366.03 vd;gJ &.2,000 I tplf; FiwthdJ vd;gijf; ftdpf;Ff. 
  

,q;F $wg;gLtJ ahnjdpd;> jw;NghJ 1,366.03 &ghahf ,Ug;gJ 4 tUlq; 
fspy ; 2,000 &gh ngWkjpAilajhfpwJ. (10% ,y;).   
 

(2) ePq;fs; 3 tUlq;fspy; &.3000 ,idg; ngw;Wf; nfhz;lhy;> ,w;iwg; ngWkjp 

vd;d? (tl;b tPjk; 10 %) 
 

vjpu;fhyg; ngWkjp (FV)  =  &. 3,000  

tl;b tPjk; (r)  = 10 %,     mjhtJ jrkj;jpy; $Wtjhapd;  0.10 MFk;.   

Mz;Lfspd; vz;zpf;if (n) = 3. 

vdNt> 3 tUlq;fspy; 3000 &ghTf;fhd ,w;iwg; ngWkjp> 
  

PV = FV / (1+r)n 
PV = &. 3,000 / (1 + 0.10)3 
PV = &. 3,000 / 1.103 
PV = &. 2,253.95 
 

&. 2,253.95 MdJ &. 3000 ,idtpl Fiwthf ,Ug;gijf; ftdpf;Ff.   

,q;F $wg;gLtJ ahnjdpy;> jw;NghJ &.2,253.95 &ghthf ,Ug;gJ 3 
Mz;Lfspy; &. 3,000 ngWkjpAilajhfpwJ (10 % ,y;) 
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(3)  10 % vd;w tl;b tPjj;jpy;> mLj;j tUlk; &. 6,500 ngWkjpAilajhf ,Uf;f 

Ntz;Lk; vdpd;> mjd; jw;Nghija ngWkjp ahjhf ,Uf;f Ntz;Lk;?  

PV = &. 6,500 / (1+0.10)1 = &. 6,500 / 1.10 = &. 5,909.09 (fpl;ba rjj;jpy;) 

 
(4)  15% vDk; tl;b tPjj;jpy; mLj;j tUlk; &. 6,500 ngWkjpAilajhf ,Uf;f 

Ntz;Lk; vdpd;> mjd; jw;Nghija ngWkjp ahjhf ,Uf;f Ntz;Lk;?  

PV = &. 6,500 / (1+0.15)1 = &. 6,500 / 1.15 = &. 5652.17 (fpl;ba rjj;jpy;) 

 

 epfu ,w;iwg; ngWkjp (NPV)  

xU nraw;wpl;lj;jpd; my;yJ KjyPl;bd; NPV MdJ fhR cl;gha;T> my;yJ 
tUtha;> epjpaplYf;Fj; Njitahd KjyPl;Lj; njhifiar; rkg;gLj;Jfpd;w 
my;yJ mjid tpQ;Rfpd;w msT Mfpatw;iwg; gpujpgypf;fpwJ.  

 

NPV ,idf; fzpg;gjw;fhd gbKiwfs; 
 

1. cq;fsJ Muk;g KjyPl;il KbT nra;jy; 
2. gFg;gha;Tf; fhyg;gFjpia KbT nra;jy;  
3. xt;nthU fhyg;gFjpf;Fkhd cq;fs; fhR cl;gha;tpid kjpg;gPL nra;jy; 
4. nghUj;jkhd foptPl;L tPjj;jpid KbT nra;jy; 
5. ckJ fhR cl;gha;Tfis foptPL nra;jy; 

cjhuzq;fs; : 
(1)  mkYf;Fj; jw;NghJ &.1000 Njitg;gLfpwJ. mtu; xU tUlj;jpy; mjid 

&.1350 Mfj; jpUg;gpj; jUthu;. cq;fshy; 101% ,idg; ngwf;$bajhf 

,Uf;Fkhapd; ,k;KjyPL xU rpwe;j KjyPlhf ,Uf;Fkh? 
 

ntspr; nry;Yk; gzk; : ,g;NghJ &. 1000 
 

,g;nghOJ ePq;fs; &. 1000 ,id KjyPL nra;Js;sPu;fs;>  

vdNt PV = – &. 1000 
 

cs;tUk; gzk; : mLj;j tUlk; &. 1350 
 

PV = &. 1,350 / (1+0.10)1 = &. 1,350 / 1.10 = &. 1,227.28 (fpl;ba rjj;jpy;) 
 
epfuj; njhif : 
 

epfu ,w;iwg; ngWkjp = &. 1,227.28 – 1,000 = &. 227.28 
vdNt> 10 % tl;b tPjj;jpy;> ,e;j KjyPL &. 227.28 ngWkjpAilajhFk;.  
(NtW thu;j;ijapy; nrhy;tjhdhy;> ,d;iwa gzj;jpy;> 10% KjyPl;bid 

tpl &.227.28 rpwe;jjhFk;.) 
 

epfu ,w;iwg; ngWkjp (NPV) Neu; ngWkhdj;ijf; nfhz;bUg;gJ ed;ik 

ahdjhFk;. (kiwg; ngWkhdj;ijf; nfhz;bUg;gJ jPikahdjhFk;) 
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(2)  jw;NghJ &.20,000 ,id KjyPL nra;J> &.5000 tPjk; 3 tUlhe;jf; nfhLg;gdT 
fisg; ngWtJld; 3 Mk; tUlj;jpy; &.12000 njhifAk; ngwg;gLfpwJ. 10 % 
tl;b tPjj;jpidg; gad;gLj;jp NPV If; fzpf;Ff.  

 

Muk;g KjyPL = &. 20,000 
fhyk; = 3 
foptPl;L tPjk; = 10 % 
 

   Kiw 1 

Mz;L fhRg; gha;T foptPl;Lf; fhuzp  

(10% ,y;) 
,w;iwg; 
ngWkjp 

0    (20,000.00) 1.00     (20,000.00) 

1        5,000.00  0.9091          4,545.45  

2        5,000.00  0.8264          4,132.23  

3        5,000.00  0.7513          3,756.57  

3      12,000.00  0.7513          9,015.78  

 
NPV 

 
         1,450.04  

 
Kiw 2   

 ,g;nghOJ : PV = – &. 20,000 
 Mz;L 1: PV = &. 5,000 / 1.10 = &. 4,545.45 
 Mz;L 2: PV = &. 5,000 / 1.102 = &. 4,132.23 
 Mz;L 3: PV = &. 5,000 / 1.103 = &. 3,756.57 
 Mz;L 3 (,Wjpf; nfhLg;gdT): PV = &. 12,000 / 1.103 = &. 9,015.78 

NkNy ngwg;gl;ltw;iwf; $l;bdhy;> 
  

NPV = – &.20,000 + &.4,545.45+ &.4,132.23+ &.3,756.57+ &.9,015.78 = &.1,450.04 
 

,e;j KjyPL Vw;Wf;nfhs;sg;gly; Ntz;Lk;. 

(3)  nraw;wpl;lk; xd;W 3 tUl MAl;fhyj;ijf; nfhz;Ls;sJld; &.100,000 
ngWkjpahd fpuakhdJ> 1 MtJ Mz;by; &. 25,000 ,idAk; 2 MtJ Mz;by; 

&. 45,000 ,idAk; 3 MtJ Mz;by; &.65,000 ,idAk; tUkhdkhfg; gpwg;gpf; 

fpwJ. foptPl;L tPjk; 8 % vdpd;> ,r;nraw;wpl;lj;jpd; NPV vd;d?  
 

Kiw 1 

Mz;L fhRg; gha;T foptPl;Lf; fhuzp 
(8 % ,y;) 

,w;iwg; 
ngWkjp 

0    (100,000.00)           1.00  (100,000.00) 

1         25,000.00            0.9259      23,148.15  

2         45,000.00            0.8573      38,580.25  

3         65,000.00            0.7938      51,599.10  
  NPV       13,327.49  

 

NPV Neu;g; ngWkhdk; vd;gjhy; ,r;nraw;wpl;lk; Vw;Wf;nfhs;sg;gly; Ntz;Lk;. 
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 Kiw 2 : 
 

 ,g;nghOJ : PV = – &. 100,000 
 Mz;L 1: PV = &. 25,000 / 1.08   = &. 23,148.15 
 Mz;L 2: PV = &. 45,000 / 1.082   = &. 38,580.25 
 Mz;L 3: PV = &. 65,000 / 1.083  = &. 51,599.10 

NkNy ngwg;gl;ltw;iwf; $l;bdhy;>  
 

NPV  = – &. 100,000 + &. 23,148.15+ &. 38,580.25+ &. 51,599.10   
= &. 13,327.49 

 
 

(4) nraw;wpl;lk; xd;W 4 tUl MAl;fhyj;ijf; nfhz;Ls;sJld; &.225,000 
ngWkjpahd fpuakhdJ> 1 MtJ Mz;by; &. 48,000 ,idAk; 2 MtJ Mz;by; 

&.67,000 ,idAk; 3 MtJ Mz;by; &.95,000 ,idAk;> 4 MtJ Mz;by; 

&.110,000 ,idAk;  tUkhdkhfg; gpwg;gpf;fpwJ. foptPl;L tPjk; 15 % vdpd;> 

,r;nraw;wpl;lj;jpid Vw;Wf;nfhs;s KbAkh? 
 

Mz;L fhRg; gha;T foptPl;Lf; fhuzp 
(15 % ,y;) 

,w;iwg; 
ngWkjp 

0  (225,000.00) 1.00  (225,000.00) 
1       48,000.00  0.8696      41,739.13  
2       67,000.00  0.7561      50,661.63  
3       95,000.00  0.6575      62,464.04  

4     110,000.00  0.5718      62,892.86  

  NPV      (7,242.34) 

NPV kiwg; ngWkhdkhf ,Ug;gjhy; ,r;nraw;wpl;lj;ij Vw;Wf;nfhs;s 

KbahJ. 

Kiw 2 : 
 

 ,g;nghKJ : PV = – &. 225,000 
 Mz;L 1: PV = &. 48,000 / 1.15    = &. 41,739.13 
 Mz;L 2: PV = &. 67,000 / 1.152    = &. 50,661.63 
 Mz;L 3: PV = &. 95,000 / 1.153    = &. 62,464.04 
 Mz;L 4: PV = &. 110,000 / 1.154 = &. 62,892.86 

NkNy ngwg;gl;ltw;iwf; $l;bdhy;> 
  

NPV  = – &.225,000 + &.41,739.13 + &.50,661.63+ &.62,464.04 + &.62,892.86   
= &. (7,242.34) 
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 cs;sf tUtha; tPjk;  (IRR) 

cs;sf tUtha; tPjk; vd;gJ epfu ,w;iwg; ngWkjpia G+r;rpakhf;Ffpd;w tl;b 
tPjk; MFk;.  

“Cfpj;Jr; Nrhjpf;Fk; (guess and check)" Kiw vd;gJ ,jidf; fz;Lgpbg;gjw;fhd 

xU nghJthd Kiw MFk;. (,J ,yFthd Kiwahf ,Ug;gpDk; mjid 
Neubahfj; jPu;T nra;a Ntz;bapUf;ff;$Lk;)      

 
IRR ,idf; fzpg;gpLtjw;fhd gbKiwfs;  
 

gbKiw 1: NPV fspd; fzpg;gPl;bw;fhf 2 foptPl;L tPjq;fisj; njupTnra;jy;  
 

gbKiw 2 ,y; epfu ,w;iwg; ngWkjpfisf; fzpg;gpLtjw;Fg; gad;gLj;jf;$ba 2 
foptPl;L tPjq;fis vOkhw;whfj; njupT nra;tjd; %yk; fzpg;gPl;il cq;fshy; 
Muk;gpf;f KbAk;.  
 

vt;thwhapDk; IRR ,ypUe;J nghUj;jkw;w ,ilntspapy; (cjhuzk; : 10 % kw;Wk; 
90%) mt;tpU foptPl;Lf; fhuzpfisAk; njupT nra;ahky; ,Ug;gJ Kf;fpakhd 

jhFk;. Vnddpy; mJ Jy;ypaj;jd;ikapidf; Fiwf;ff;$Lk;.  
 

gbKiw 2:  2 foptPl;L tPjq;fisAk; gad;gLj;jp KjyPl;bd; NPV fisf; fzpg;gpLjy; 
 

gbKiw 1 ,y; njupTnra;j xt;nthU foptPl;L tPjj;jpd; mbg;gilapYk; KjyPl;bd; 
epfu ,w;iwg; ngWkjpfis ePq;fs; ,g;NghJ fzpj;jy; Ntz;Lk;. 

   
gbKiw 3:  IRR If; fzpj;jy; 
  

gbKiw 1 ,y; njupTnra;j 2 foptPl;L tPjq;fisAk; gad;gLj;jp> gbKiw 2 ,y; 2 
epfu ,w;iwg; ngWkjpfisAk; ngWf. mjd; gpwF IRR #j;jpuj;jpidg; gpuNahfpg;gjd; 

%yk; IRR ,idg; fzpg;gplyhk;. 

     
gbKiw 4: tpahf;fpahdk; 
 

IRR ,w;fhd jPu;T tpjp ahnjdpd;> IRR ,id tpl %yjdf; fpuak; (WACC) Fiwthf 

,Uf;Fk; gl;rj;jpy; kl;LNk KjyPL xd;W nra;ag;gLjy; Ntz;Lk; vd;gjhFk;.   

xU KjyPl;il kl;Lk; fUj;jpw; nfhs;Sk; Ntisapy; NPV gFg;gha;T fhuzkhf 

NkNy jug;gl;l jPu;T tpjpahdJ mNj KbTf;F toptFf;Fk;.  

   
cjhuzq;fs; :  
 

(1)   ,g;NghJ &.9,000 KjyPL nra;ag;gLfpwJ. nfhLg;gdthf Mz;Lf;F &.2,500 
tPjk; 3 Mz;LfSf;Fg; ngwg;gLtJld;  3 MtJ Mz;by; &.4000 $Ljyhfg; 

ngwg;gLfpwJ. IRR If; fzpg;gpLf. 
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10 %  ,y; Kaw;rp nra;Nthk;. 
 

Mz;L fhRg; gha;T 
foptPl;Lf; fhuzp 

(10 % ,y;) 
,w;iwg; 
ngWkjp 

0       (9,000.00)        1.00     (9,000.00) 

1          2,500.00         0.9091        2,272.73  

2          2,500.00         0.8264        2,066.12  

3          2,500.00         0.7513        1,878.29  

3          4,000.00         0.7513        3,005.26  

  NPV           222.39  

 
12 %  ,y; Kaw;rp nra;Nthk;. 
 

Mz;L fhRg; gha;T 
foptPl;Lf; fhuzp 

(12 % ,y;) 
,w;iwg; 
ngWkjp 

0       (9,000.00)           1.00     (9,000.00) 

1          2,500.00            0.8929        2,232.14  

2          2,500.00            0.7972        1,992.98  

3          2,500.00            0.7118        1,779.45  

3          4,000.00            0.7118        2,847.12  

  NPV         (148.30) 
 

 
11.2 %  ,y; Kaw;rp nra;Nthk;. 
 

Mz;L fhRg; gha;T 
foptPl;Lf; fhuzp 

(11.2 % ,y;) 
,w;iwg; 
ngWkjp 

0        (9,000.00)                   1.00       9,000.00) 

1           2,500.00                0.8993        2,248.20  

2           2,500.00                0.8087        2,021.76  

3           2,500.00                0.7273        1,818.13  

3           4,000.00                0.7273        2,909.01  

  NPV             (2.89) 
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Kiw 2 
 

10 %  ,y; Kaw;rp nra;Nthk;.  
 

 ,g;nghOJ : PV = – &. 9,000 
 Mz;L 1: PV = &. 2,500 / 1.10 =   &. 2,272.73 
 Mz;L 2: PV = &. 2,500 / 1.102 = &. 2,066.12 
 Mz;L 3: PV = &. 2,500 / 1.103 = &. 1,878.29 
 Mz;L 3 (,Wjpf; nfhLg;gdT): PV = &. 4,000 / 1.103 = &. 3,005.26 

 

NkNy ngwg;gl;ltw;iwf; $l;bdhy;>  NPV = &. 222.39 
 
 

12 %  ,y; Kaw;rp nra;Nthk;. 
  

 ,g;nghOJ : PV = – &. 9,000 
 Mz;L 1: PV = &. 2,500 / 1.12 =   &. 2,232.14 
 Mz;L 2: PV = &. 2,500 / 1.122 = &. 1,992.98 
 Mz;L 3: PV = &. 2,500 / 1.123 = &. 1,779.45 
 Mz;L 3 (,Wjpf; nfhLg;gdT): PV = &. 4,000 / 1.123 =  &. 2,847.12 

 

NkNy ngwg;gl;ltw;iwf; $l;bdhy;>  NPV =  &. (148.30) 
 

vdNt> 11.2 % vd;gJ neUf;fkhdjhf ,Uf;fyhk;.   
 

 ,g;nghOJ : PV = – &. 9,000 
 Mz;L 1: PV = &. 2,500 / 1.112 =   &. 2,248.20 
 Mz;L 2: PV = &. 2,500 / 1.1122 = &. 2,021.76 
 Mz;L 3: PV = &. 2,500 / 1.1123 = &. 1,818.13 
 Mz;L 3 (,Wjpf; nfhLg;gdT): PV = &. 4,000 / 1.1123 =  &. 2,909.01 

 

NkNy ngwg;gl;ltw;iwf; $l;bdhy;>  NPV =  – &. 2.89 
 

vdNt> IRR = 11.2 % MFk;.  
 

(2)  &.280,000 ,id fhR ntspg;gha;thff; nfhz;Ls;s KjyPL xd;wpd; IRR If; 
fzpf;Ff. Kjyhk;> ,uz;lhk;> %d;whk;> ehd;fhk; Mz;LfSf;fhf vjpu;ghu;f; 

fg;gLk; fhR cl;gha;Tfs; KiwNa &. 72,000, &. 97,000, &. 105,000, &. 110,000 
vd;gdthFk;. 

Mz;L fhRg; gha;T 
foptPl;Lf; fhuzp 

(10 % ,y;) 
,w;iwg; 
ngWkjp 

0 (280,000.00)          1.00 (280,000.00) 
1 72,000.00 0.9091 65,454.55 
2 97,000.00 0.8264 80,165.29 
3 105,000.00 0.7513 78,888.05 
4 110,000.00 0.6830 75,131.48 

  NPV        19,639.37  
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13 %  ,y; Kaw;rp nra;Nthk;. 

Mz;L fhRg; gha;T 
foptPl;Lf; fhuzp 

(13 % ,y;) 
,w;iwg; 
ngWkjp 

0   (280,000.00)         1.00   (280,000.00) 
1        72,000.00         0.8850       63,716.81  
2        97,000.00          0.7831       75,965.23  
3      105,000.00          0.6931       72,770.27  
4      110,000.00          0.6133       67,465.06  

  NPV 
 

           (82.63) 
 
r = 10 % vdf; fUjpdhy;>  
 

10 % foptPl;L tPjj;jpy;  NPV  =  &. 19,639.37 
 

NPV MdJ G+r;rpaj;ij tplg; ngupjhf ,Ug;gjhy;> ehq;fs; foptPl;L tPjj;ij 

mjpfupj;jy; Ntz;Lk;. vdNt> 
  

13 % foptPl;L tPjj;jpy;  NPV  =  &. (82.63) 
 

NPV MdJ r ,d; 13 % ngWkjpapy; fpl;lj;jl;l G+r;rpaj;jpw;F mz;ikapy; 

,Uf;fpwJ. vdNt> 
  

IRR ≈ 13 % 
 
    #j;jpuk; : 

      cs;sf tUtha; tPjk; (IRR)  R1  

 
,q;F> R1    = jho;e;j foptPl;L tPjk;  

   R2    = cau;e;j foptPl;L tPjk; 
   NPV1  = cau;e;j epfu ,w;iwg; ngWkjp (R1 ,ypUe;J ngwg;gl;lJ) 
   NPV2  =  jho;e;j epfu ,w;iwg; ngWkjp (R2 ,ypUe;J ngwg;gl;lJ)  

 
(3)  mky; vd;gtu; `hl;ntahu; tpahghuk; xd;wpy; &. 350,000 ,id KjyPL nra;a 

vz;Zfpwhu;. ,q;F Kjyhk;> ,uz;lhk;> %d;whk; Mz;LfSf;fhf 

vjpu;ghu;f;fg;gLk; fhR cl;gha;Tfs; KiwNa &. 125,000 &. 150,000 &. 170,000 
vd;gdthFk;.   

 

%yjdf; fpuak; 11% 
 

Kd;nkhopag;gl;l KjyPl;bw;fhd IRR ,idf; fzpg;gJld; ckJ tpilapid 

tpahf;fpahdk; nra;f (tpsf;Ff.) 
 
gbKiw 1:  2 foptPl;L tPjq;fisj; njupT nra;f.  
 

 R1 = 10 %   ,          R2 = 15 % 
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gbKiw 2 :  2 foptPl;L tPjq;fisAk; gad;gLj;jp KjyPl;bw;fhd NPV fisf; 
fzpg;gpLf.  
  

 10 %  ,y;  
 

Mz;L fhRg; gha;T foptPl;Lf; fhuzp 
(10 % ,y;) 

,w;iwg; 
ngWkjp 

0   (350,000.00)  1.00 ...     (350,000.00) 
1    125,000.00                0.9091       113,636.36  

2    150,000.00                0.8264       123,966.94  

3    170,000.00                0.7513       127,723.52  

  NPV1          15,326.82  
  
 
 15 %  ,y; 
  

 

 

 

 

 

gbKiw 3 : IRR ,idf; fzpj;jy; 

  

 

 

 

 

gbKiw 4 : tpahf;fpahdk; 
 

mky; vd;gtuhy; ,k;KjyPL vw;Wf; nfhs;sg;gly; Ntz;Lk;. 

Vnddpy;> 11 % vd;w %yjdf; fpuakhdJ 12.44 % vd;w IRR ,id 

tplf; FiwthdjhFk;.  
 
 

Mz;L fhRg; gha;T foptPl;Lf; fhuzp 
(15 % ,y;) 

,w;iwg; 
ngWkjp 

0   (350,000.00)          1.00      (350,000.00) 

1    125,000.00           0.8696       108,695.65  
2    150,000.00           0.7561       113,421.55  

3    170,000.00           0.6575       111,777.76  

  NPV2        (16,105.04) 
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  IRR fzpg;gPL 

IRR ,idf; fzpg;gpLtJ rw;W rpf;fyhdJ. IRR ,y; epfu ,w;iwg; ngWkjp (NPV) 
G+r;rpak; vd;gJ vkf;Fj; njupAk;. vdNt>  
 NPV = 0;  my;yJ  

vjpu;fhy fhRg; gha;Tfspd; PV – Muk;g KjyPL = 0;   my;yJ 

  
CF1 

 + 
CF2 

 + 
CF3 

 + ...   − Muk;g KjyPL = 0 
( 1 + r )1 ( 1 + r )2 ( 1 + r )3

,q;F> 
   r   vd;gJ cs;sf tUtha; tPjk; ; 
   CF1  vd;gJ xU epfu fhRg; gha;Tf; fhyg;gFjp ; 
   CF2  vd;gJ ,uz;L epfu fhRg; gha;Tfspd; fhyg;gFjp , 
   CF3  vd;gJ %d;W epfu fhRg; gha;Tfspd; fhyg;gFjp ….... 

 

Mdhy;> NkYs;s rkd;ghl;by; khwp r (cs;sf tUtha; tPjk;) ,id xU 

gf;fj;jpw;F Ntwhf;fp vLg;gjw;F Kbahky; ,Ug;gNj ,q;Fs;s gpur;rpidahFk;. 

vt;thnwdpDk;> IRR ,idj; Jzptjw;F khw;wPlhfg; gpd;gw;wf;$ba eilKiwfSk; 

,Uf;fpd;wd. mtw;Ws; kpf ,yFthd eilKiw fPNo tpgupf;fg;gLfpwJ.  
 

gbepiy 1 :  r ,d; ngWkjpia Cfpj;jwpe;J me;jg; ngWkjpapy; nraw;wpl;lj;jpd; 
NPV If; fzpj;jy;  

gbepiy 2 : NPV MdJ G+r;rpaj;jpw;F mz;ikahf ,Ug;gpd; IRR MdJ r ,w;Fr; 
rkdhFk;. 

gbepiy 3 : NPV MdJ G+r;rpaj;ij tplg; ngupjhf ,Ug;gpd; r ,d; ngWkjpapid 

mjpfupj;J gbepiy 5 ,w;Fr; nry;yTk;. 
gbepiy 4 : NPV MdJ G+r;rpaj;ij tplr; rpwpjhf ,Ug;gpd; r ,d; ngWkjpapidf; 

Fiwj;J gbepiy 5 ,w;Fr; nry;yTk;. 
gbepiy 5 : r ,d; Gjpa ngWkjpiag; gad;gLj;jp NPV I kPsTk; fzpg;gpLtJld; 

gbepiy 2 ,w;Fj; jpUk;gTk;.  
cjhuzk; : 

&. 250,000 ,id fhR ntspg;gha;thff; nfhz;Ls;s KjyPL xd;wpd; IRR If; fzpf;Ff. 
Kjyhk;> ,uz;lhk;> %d;whk;> ehd;fhk; Mz;LfSf;fhf vjpu;ghu;f;fg;gLk; fhR cl;gha;Tfs; 

KiwNa &. 66,000, &. 78,000, &. 92,000, &. 105,000 vd;gdthFk; 

Mz;L fhRg; gha;T 
foptPl;Lf; fhuzp 

(10 % ,y;) 
,w;iwg; 
ngWkjp 

0   (250,000.00) 1.00   (250,000.00) 
1      66,000.00  0.9091        60,000.00  
2      78,000.00  0.8264        64,462.81  
3      92,000.00  0.7513        69,120.96  
4    105,000.00  0.6830        71,716.41  

  NPV 
 

       15,300.18  
 

10%  ,y; NPV  =  &. 15,300.18 
,q;F NPV MdJ G+r;rpaj;ij tplg; ngupajhFk;. vdNt ehq;fs; foptPl;L 

tPjj;jpid mjpfupj;jy; Ntz;Lk;. 
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12 % foptPl;Lf; fhuzpapy;>  
 

Mz;L fhRg; gha;T 
foptPl;Lf; fhuzp 

(12 % ,y;) 
,w;iwg; 
ngWkjp 

0   (250,000.00) 1.00    (250,000.00) 
1      66,000.00  0.8929        58,928.57  
2      78,000.00  0.7972        62,181.12  
3      92,000.00  0.7118        65,483.78  
4    105,000.00  0.6355        66,729.40  

 
NPV 

 
         3,322.87  

 

12 % ,y; NPV  =   &. 3,322.87 
 

Mdhy;> ,JTk; G+r;rpaj;ij tpl ngupjhf ,Uf;fpwJ. vdNt ehk; ,d;Dk; 
foptPl;L tPjj;jpid mjpfupj;jy; Ntz;Lk;.  
 

13 %  foptPl;Lf; fhuzpapy;>  
 

Mz;L fhRg; gha;T 
foptPl;Lf; fhuzp 

(13 % ,y;) 
,w;iwg; 
ngWkjp 

0   (250,000.00) 1.00    (250,000.00) 
1      66,000.00  0.8850        58,407.08  
2      78,000.00  0.7831        61,085.44  
3      92,000.00  0.6931        63,760.61  
4    105,000.00  0.6133        64,398.47  

 
NPV          (2,348.40) 

 

13% ,y; NPV  =  &. (2,348.40) 

12.5 % foptPl;Lf; fhuzpapy; 
 

Mz;L fhRg; gha;T 
foptPl;Lf; fhuzp 

(12.5 % ,y;) 
,w;iwg; 
ngWkjp 

0   (250,000.00) 1.00    (250,000.00) 
1      66,000.00  0.8889        58,666.67  
2      78,000.00  0.7901        61,629.63  
3      92,000.00  0.7023        64,614.54  
4    105,000.00  0.6243        65,550.98  

  NPV               461.82  
 

12.5 % ,y;  NPV  =  &. 461.82 
,q;F> r ,d; ngWkjp 12.5 % ,y; ,Uf;Fk;NghJ NPV MdJ G+r;rpaj;jpw;Fr; 

rw;W mz;ikahf ,Uf;fpwJ. vdNt>     IRR ≈ 12.5 % 
 

guPl;ir xd;W eilngWk; Ntisapy; xU guPl;rhu;j;jp ve;jnthU foptPl;L 
tPjj;jpidAk; njupT nra;J fzpg;igr; nra;a Muk;gpf;fyhk;. vt;thwhapDk;> 
,uz;lhtJ foptPl;L tPjj;jpidj; njupT nra;Ak;NghJ NkNy vd;d $wg;gl;lhYk; 
fpl;lj;jl;l Neu; ngWkjpapy; xU tpilAk; kiwg; ngWkjpapy; xU tpilAk; 
tUk;gbahf njupT nra;tjw;F Kaw;rpf;f Ntz;Lk; vd;gij ftdj;jpw; nfhs;f.  


